ID:1210 P- 1

P g SR
2 W B #E7E Boal R
By 3% SFI0T4E07T H 11 H eI Dt e/ 71 b (Biir)
fh 4 JE Hh = (Mo | E=E e T fE g2y ]
X R AbE 10. 00 | #H%F 200 2, 000 1,728
IENE HOR 10. 00| AHxf 150 1, 500 3, 024
H X £ ¥ 15. 00| AHxf 336 5,040 1,080 831 324
T D E S 10. 00 | #H%f 500 5,000| 1,037 957 648
H % i 3. 00| FHxf 355 1,065 1,404| 1,124 756
i A ] 1L 1. 00| FHxf 280 280 1,296| 1,130 972
AN ™5 5. 00| FHx%f 149 745| 2,484 2,038| 1,296
N 0.40| #xt| 1,220 488 162 53] 97
= = 4. 00| fHxf 780 3,120 1,728| 1,385 756
[N = 5. 00 | #H %} 15 75| 1,944| 1,570 1,080
EN N 5.00[#A%k|  7es| 3,840 1,944| 1,593 756
e %% 0. 15| FHxf 750 113 86 84 81
~7 b~ | AbiEiE 3. 00 | FH %} 162 486| 2,592| 2,456| 2,160
(= AbiEiE 0. 10| #H%f 80 9 216 205
= o | o.00[ /%] 5| ol | 0,808
H ik w5 5. 00| FH%f 130 650 2,700 2,459| 2,160
A—=T 4 £ I& 10. 00| AHxf 40 400 1,620 1,458] 1,296
£ A L 10. 00| AHxf 439 4,390 1,512 1,360| 1,080
L&A E % 10. 00 | #H%f 786 7,860 1,512 1,087 756
P=—lH A & ¥ 4. 00| FHxf 396 1,584 972 726 648
L xon & A 4. 00 | FHxF 3 12 6, 480
AEMEE w5 0. 10| FHxf 1, 150 115 162 123 65
ZDXH E % 0. 20 | FHx} 1, 200 240 54 52 51
LU E B 0. 20 | FHx} 150 30 76




ID:1210 p- 2

P g SR
ESR S TR = 1 =i Q1 IV NI )
Rz AFI07TH07TH 11 H eI Dt e/ 36 kv (BiiA)
i 4 PEHH = Wae | %K F i fiE T fE g2y ]

LEV T AU K | 17.00| FHxF 100 1,700 7,020 6,991| 6,912
5 U H & 10. 00| FA % 115 1,150 6,156| 5,924| 5,443
K i Al 5. 00 | #H 5%} 229 1,145| 6,480| 3,773| 3,024
BT a0l Fmxt| 97| 388 4,752 4,176 2,700
VaVAVE VS X K 0. 30 #Hx} 800 240 432 372 324

B A — % 1L 2. 00| FHxf 6 12 4,536
2 (Al 0. 50 | #Hx} 984 492 540 482 432
T T A e 5. 00| FH*} 166 830 3,888| 3,480 2,700
iR Fealll 16. 00 [ #H%f 813 13,008| 6,048| 4,398 2,376
5 W | is.s0(4Ext|  s00| 7,752 5,940 3,876| 2,484
/NEPE R A ) 10. 00| fHxf 36 360 4,860| 3,582 2,376
AVava 7 4 U ¥ | 13.00] fHxf 9 117|  4,104| 3,624| 3,132




